Cat.No.LE11-3

LR B BiA A& A BR/A 8] SHENYANG TOTAL BEARING CO. LTD.
Tel: 024 22945833 22923833 24853899 Fax: 024 88729249
Mobile: 13940483518 15640413155 (#15)

Web: https://www.rstbearing.com.cn

JAF - JAME!
FBF - FBMZY creeszs) ozt
EDE - FDM?:F,E (RFH= ) 1S0 14001

PB - JBS#!
FB S #U ereie)

= -
‘ e e L
) s %
e 50
Ao iy
g .‘ / 2 § . >// 7 o ‘
TP i AN N ' -y
.\ =
# = o
. [ é
& = =
SE# \
S N
= 700k =7
= —— 5.4
a2 \
= \
- % - 2
2% e T .
I 3 o V4 9
- b
£ 7

\

VBveS
A\

HE ¥ Tk X &t




ASAHI

R T A ASAHI K T B A

1. F# B 6. XTHANAETEE 2
FEAT AR SR AE A SNBSS P IRSCHBAL  AT 5 T S8 T A Sk AR A BRI Py B, AT SRR, $EBh DL R S B XoF I R 5 7l K [] A F oK THT 98 2h l  9) T 1
GEEIL LV wE, WHAERZAE, BEMARERENERR 10 JA

HHAE . Fit ASAHMKIEMILE RS Ik, £ o /
AR R BidsHAE . "7 /

2. ¥ & =, N % 6 /L FB,FD-
‘ ‘ %3 ?EE’]R#ﬁ'ﬂ:B&% BiLum (6.1] =/NE&REERR [ AT 1 . /4/

o st e | . 3 i L IRASIT, L B 2 61 6075 £ AT L min Iy b/at.
2 SRR Y B A IS, sk BRI T T > B KB, MR RS T, & 2 s
R R B A SR O, EPTS R R ] 5 | 6 | = 9-e1 |216~2 8| +20~v12 | 223—215 FEFEARE R AR, ZLB0R BE A% A U0 75 /|
LA YL By
BRI AR T 6 | 10 | +10~+1 | +19~+10 | +24~+15 | +28~+19 (6.2] #RPR1Z[E) 5 o E‘,L 2 //,///

10 | 18 | +12~+1 | +23~+12 | +20~+18 | +34~+23 EP AR PRAS, LRIKASE 9 ) B A 1min & /7
‘ 18 | 30 | +15~+2 |+28~+15 | +35~+22 | +41~+28 Ja, XBIToHR, SEHE 25N A2 ) 74 1 A /
® PTFES AR, ek e WRRI, Al I 3 5 b Al
TSR R P i A T A R DAY T 22 % D 56 A R I i W B (42 1] 671847 o /
Ao £ HE B Sy [ R 0 3 59 ok 75 R0 R T P P ) R A (6.3] HRIREATS 5175 cmz
B ATFEFA A AlS R B R T B IR i | T
R E' = P LRRRPERORETRE  Sain ARSI LA~ 5 L 0s
@ | | oo | M7 Ji, TR, BHE LE25N Al 1) D7
RLE |BIF W, BRE SRR, e8I Y 1k ) i e
10 20 30 40 50

3. ¥ #l 10 | 18 | +18~0 | + 9 |+6~-12 | 0~-18 A0 PR %l 1) 9747 o HERENE E  mm

%1 18 | 30 | +21~0 +10.5 | +6~—15 0~—21 AN, KT, BA B AR R
= n - ‘ = ‘ = — 30 | 50 +25~0 +125 | +7~—18 0~—25 W IR RE S 5 e, BRI L. 3 PVAIFE
= P 50 | 80 | +30~0 | +15 | +9~-21 | 0~-30 7. PV
IKTE P = R 5% Bl R SR S 1 (SUJ) (SUS440C) : 20
B @as | — AR HARN TG, A% & shmm R '8 \

PTFE % E JE IPHITE RS BV AR PV (1 b B . '

#E ®BE . i Fr 7En 16

PSR | mmew | RGBSR | o o 5. TB5E - kR A 109 7 14

REGIH | KWW | mww o O A ] a "

= = (S35C) (SUJ2) (S35C) *5 B m © 1B = kN/cm E 12
5 = 5 ‘ : Vo BBEE m/min s \

o g (BUHINIERE & Bk /ZE I*JFH _ 7%:2 & i PV : PV kN/cm2 « m/min 1.0

& X0 (C3604B) I = A ‘f‘I i) \flfa fT N, Fr : @ kN . \
E 7L | BWRIFRE | WHRIFRZE | DHRITRE A EBENEESEEYER kN/cm208
£ | T || T | L] T |&NEKX (ZRE2) cm? 06 \ PV:2.94
Z 12 | o n o HEER r/min oa <
E :IkEABESME mm N N
Jepe gy AVFIX
4. FNEHARFEHOEE 2l o 5 | 40 1 st sk B ARIR 02 P~
*2 WEHE 1‘21 - 724 6 8 1012 14 16 18 20
HMEHRENEHNNEME, ER 15 BEEE V m/min
& B % % T +18 | 0 S
i WA & 16 R I B R R ¥ 0o
— — 17 e \
= =B LT 1
K7 18 i3 AN

ird B EBAWE k6 20 #7400 N

il BE 1 & M7 2 r/min - \

W BEAH n 6 o7 25 | .01 | o 200 ™~

Tie B EEAE pe6 28 5 | 50 |

f,‘l ﬁ E ﬁ &l re K7 30 0 5 10 15 20 25 30

no& mm



K T B A ASAHI K T B A ASAHI

7
iml=:c) . &
8. EER~ ] SMBLITIHE
=]
FBMZY
R FDME (REMZRT])
RS L
JAFEHY [
A
=6 =9 {
7 z — - *+ ZE R~ (mm) W BB ARIRATE(KN) =
£ = R < (mm) BEEHAC) B0 E [IRBATKN) = g B s mm | B8 R &
B S (I PR prop" FBM-FDM| B |W |[H | O |D | F| G A E M @C) | & & | & 21E B (9)
B|W|H| O |[D|F| G |A|K|X]| J L | E M s |ae|as| Bt # % TET i T’i (9) (kN) # i
U 1) 0 5 58] 7| 77|16 |33 41 |20 [11.11|M 5x08 7 3.9 2.4 1 11
JAF 5 | 5| 8| 7| 7.7[16| 27|35 |14[12| 9| 9 |4 [11.11|M 5%x08 | 4| 7|24| 91 61| 23 18 6 6| 9| 7| 9 |18]36| 45 |22|12.7 | M 6X1 11 5.9 3.9 15 15
JAF 6 | 6| 9| 7| 9 [18|30]|39 [14[13|11|10 |5 [12.7 |M 6x1 711128 102 6.8 | 26 26 8 8 |12 | 9| 104 |22 | 42| 53 |25 |1588|M 8x125| 14 10.8 7.4 2.9 30
JAF 8 | 8|12| 9| 10.4|22|36| 47 [17|16|14|12.5| 5 [15.88|M 8x125| 8|14 (25| 146 | 9.7 | 4.2 45 @ 10 112 111 | 120 126 | 48| &1 |29 | 19.05 | miox1s 1o 150 103 a9 48
JAF10 10|14 [11|12.9|26| 43| 56 [21|19|17 |15 | 6.5(19.05|M10x15 | 7|12|23| 19.7 | 131 | 6.2 76 12 12 |16 |12 | 156.4 |30 | 54| 69 |33 [22.23 | Mi2x1.75 | 13 19.1 12.7 4.9 76
JAF12 |12(16[12| 15.4|30| 50| 65 |24|22|19|17.5 | 6.5[22.23|M12x1.75| 8|13 |24 | 242 | 162 | 7.8 | 114 14 14 [19 |14 | 16.9 |34 | 60| 77 |36 |25.4 | M14x2 14 25 16.7 6.4 115
JAF14 |14 |19 |14 | 16.9|34| 57| 74 |27|25|22|20 |8 [25.4 |M14x2 9(14 (23| 30.7 | 205 | 105 | 158 1@ 16 121 115 | 194 |38 | 66| 85 |40 | 2858 | misxo 15 309 006 78 159
#JAF15 | 15|20 (14| 18.1(36| 61| 79 [30|26|22|21 |8 [26.99|M14x2 [10|16|24| 32.6 | 21.8 | 11.1 186 18 18 |23 |17 | 21.9 |42 | 72| 93 |44 |31.75| M18X15 14 37.2 25 9.3 222
JAF16 |16|21[15|19.4|38| 64| 83 [33|27|22|22 |8 [28.58/M16x2 [10|15|24| 36.3 | 23.6 | 12.6 | 200 20 20 |25 |18 | 24.4 |46 | 78| 101 | 47 | 34.93 | M20x1.5 14 441 29.4 11.3 292
JAF17 |17 |22 |16|20.6|40| 67| 87 |34|31|27 |24 [10 |30.16|/M16x1.5 | 9|14 |23 | 40.1 | 26.8 | 14.2 | 259 - 22 |28 |20 | 25.8 |50 | 84| 100 |51 | 381 | Mo2xi1s 15 5o 248 13.0 281
JAF18 | 18|23 |17 | 21.9/42| 71| 92 |36|31|27 |25 [10 |31.75/M18x15 | 9|14 (23| 44 29.3 | 159 | 288
JAF20 |20|25[18|24.4|46| 77100 |40|37|32|27.5 10 |34.93|M20x15 | 9|14 |24 | 50.8 | 33.9 | 185 | 372 S _
JAF22 | 22|28 (20| 25.8|50 | 84[109 |43|37|32|30 [12 (381 |M22x15 | 10|15 (23| 59.8 | 9.9 | 22.4 | 475 L) 1 R P SR bR GIIFEMLS
JAF25 | 25|31 (22| 29.6(56 | 94122 |48 (42|36 (33.5 12 [42.86|M24x2 |10[15|23| 72.7 | 485 | 27.7 | 673 3. ZRIMFOF FOMELRGEN =M, HERAASAHI L BRI
JAF28 | 28|35 |25|32.3/62[108[134 |53 |46|41|37.5 12 |47.63|M27x2 [10|15|22| 88.9 | 59.3 | 35 910
JAF30 |30 |37 |26| 34.8/67 [110[143.5|56 |50 |41 |40 [15 |50.8 |M30x2 |10|15|23[108 72.2 | 38.8 |1 050 =1 3] Fi
| i O
&5 D . . .
3) fEs &8 BB1
PBHI
SMBLIATIER } R |
JAME! ) B % :83C %
J HEHNE  : Suk2 d o /]
: (BRGEH) 3|/
7 B EEE
T ®10 — =
=+ = R <+ (mm) & " AR | BATTARE =
=7 w = ) | | PO ITER R &
= = R <+ (mm) SR ) % I ? PR £1 7 (kN) [ d D B B1 d1 Fsmin (1) E RN (kN) (kN) (9)
o= & Bl @@ @l ¢ PB 5 5 16 6.0 8 7.7 0.3 |11.112 8 | 13 3.25 7.85 8.5
B |WIH| O |DIF] G JA]| E M @ foe |os | G BIE O H @ PB 6 6 18 6.75 9 9.0 0.3 | 12700 | 8 | 13 4.20 10.1 13
JAM 5| 5| 8| 7| 77 [16| 33| 41 |20 1111 | M 5%x08 | 4| 7|24 4.8 3.2 2.3 14 F2 & 8 22 9.0 12 104 0.3 | 15875 8| 14 7.00 168 24
JAM 6| 6| 9| 7] 9 18 | 36| 45 |22 [12.7 | M 6X%1 711128 6.8 4.5 2.6 19 PB10 10 26 10.5 14 12.9 0.3 | 19.050 8 | 14 9.80 23.5 39
JAM 8| 8 (12 | 9| 10.4 |22 | 42| 53 |25 1588 | M 8x125| 8 | 14|25 | 12.4 8.2 4.2 36 PB12 12 30 12.0 16 15.4 0.3 | 22225 8 | 13 13.0 31.4 58
JAM10 |10 |14 |11 | 129 |26 | 48| 61 |20 [19.05 | Miox1.5 | 7 | 12|23 | 197 | 131 62 | 60 FEE 14 34 185 19 16.9 0.3 | 25400 | 10 | 16 | 170 40.4 84
JAM12 |12 |16 |12 | 154 [30 | 54| 69 |33 |22.23 | M12x1.75| 8 | 13|24 | 242 | 162 7.8 89 PB16 16 38 15.0 21 19.4 0.3 | 28575 9|15 21.0 50.4 111
JAM14 |14 (19 |14 | 16.9 |34 | 60| 77 |36 |25.4 | Mi14x2 9 (14|23 | 307 | 205 10.5 | 129 PB18 18 42 16.5 23 21.9 0.3 | 31.750 9|15 25.5 61.6 160
#JAM15 |15 (20 |14 | 181 [ 36 | 63| 81 |38 |26.99 | M14x2 10 |16 |24 | 326 | 21.8 11.1 | 148 =20 20 46 18.0 25 24.4 0.3 | 34.925 9|18 31.0 74.0 210
JAM16 |16 |21 |15 | 19.4 |38 | 66| 85 |40 |28.58 | M16x2 10 |15 |24 | 36.3 | 24.2 12.6 | 181 PB22 22 50 20.0 28 25.8 0.3 | 38100 | 10 | 15 37.5 89.5 265
#JAM17 |17 |22 |16 | 20.6 |40 | 69| 89 |42 |30.16 | M16%x1.5 | 9 | 14|23 | 40.1 | 26.8 142 | 206 PB25 25 56 22.0 31 29.6 0.3 | 42.863 9| 15 46.0 110 390
JAM18 |18 |23 |17 | 210 |42 | 72| 98 |44 |31.75 | Mi8x15 | o | 14|23 | 44 203 | 159 | 250 1528 28 62 25.0 35 32.3 0.3 | 47.625 | 9] 15| 585 140 410
JAM20 |20 |25 |18 | 24.4 | 46 | 78| 101 47 | 34.93 | M20X 1.5 9 (14|24 50.8 33.9 18.5 333 PB30 30 66 25.0 37 34.8 0.3 50.800 10 17 62.5 150 610
JAM22 |22 |28 |20 | 25.8 |50 | 84| 109 |51 |388.1 |M22x15 |10 15|23 | 59.8 | 39.9 22.4 | 430
(1) 2EBRTIOSNEERY.
JAM25 |25 |31 |22 | 29.6 |56 | 94| 122 |57 |42.86 | M24x2 10 | 15|23 | 727 | 485 27.7 | 575
JAM28 |28 |35 |25 | 32.3 |62 [103| 134 |62 |47.63 | M27x2 10 | 15|22 | 889 | 59.3 35 795 -
JAM30 |30 |37 |26 | 34.8 |67 [110| 143.5 |66 | 50.8 | M30x2 10 | 15|23 | 108 71.9 38.8 | 996 4) 2827
(%) 1 9 05E, WERRSBONEMNELRIFR. HIIJAMLS JBSH! B a1
2AFARFHMMal-a2- a3, FSRE0,11,12.
BHERMHENIDSH~R, BERITASAHI AT Wik, = = . SuUJ2 B
S SoE S¢E
> : SUJ2 E —
2) PTFEﬁﬁEt 5) PTFEATR : N
RS iR E FBSEH! e =
wr s 38 ]
FBFal = = :8UJ2
1 XZ 5 . .
FDFE! (FENZRT) KEXE SUJ2
# B PTFERER JBS = as
x11
8 [ o= = E R <~ (mm) ?ﬂﬁ(i;’r AR PR F1 735 (KN) 8
AR () [ .
= _ JBS-FBS | g D B B1 dt | | B A BB B8 @
, = * E R~ (mm) & % (E 0 B MEREKN) | = g e -
B 5 e | & A& Cs 5 5 16 5.6 8 7.7 0.3 | 11112 | 9[15|32| 244 6.10 8
Fer-FoF g |w H| o IDlE|l alalklx! g |l ] e M fagtm = 2 & Fﬂf,‘m B (g) 6 6 18 6.4 9 9.0 0.3 | 12700 | 9|14|31| 31.8 7.90 11
azC) | w8 @R @ 8 8 22 7.9 12 10.4 0.3 | 15.875 [11[19]29| 49.2 12.3 21
5 5| 8| 7 7.7 116 |27 35 (1212 (10| 9 4 |11.11|M 5X0.8 7 8.6 5.8 2.3 16 10 10 26 9.5 14 12.9 0.3 19.050 |10[17 |28 71.0 17.7 35
6 6| 9| 7 9 18| 30 39 [13[13 11|10 5 [12.7 (M 6X1 11 9.8 6.4 2.4 20 12 12 30 111 16 15.4 0.3 20 205 10 |16 |27 96.7 24.0 53
8 8|12| 9] 10.4|22|36| 47 [16|16 [14[12.5| 5 |15.88M 8X1.25| 14 11.8 7.8 2.9 37 14 14 34 12.5 19 16.9 0.3 25400 |11]18]26] 126 31.6 77
10 10 (14 (11| 129|126 |43 56 |19 |19 |17 |15 6.5[19.05|M10X 1.5 12 15.2 10.3 3.8 61 16 16 38 14.3 21 19.4 0.3 28.575 11117 |25 160 40.1 107
12 12 (16|12 | 15.4 |30 | 50 65 |24 |22 |19 | 17.5| 6.5|22.23[M12X1.75| 13 19.1 12.7 4.9 89 18 18 42 15.9 23 21.9 0.3 31.750 |11|16]25 198 495 150
14 14 119|114 | 16.9|34 | 57 74 |27 |25 |22 | 20 8 |25.4 |M14X2 14 25 16.7 6.4 135 20 20 46 17.5 25 24 .4 0.3 34.925 101]151| 25 240 59.9 187
16 16|21 [15|19.4 |38 |64| 83 |33|27 (22|22 | 8 |28.58M16x2 15 30.9 20.6 7.8 | 171 T (1) RERRTIB NG R .
18 1823 (17|21.9(42|71| 92 (36|31 |27 |25 |10 [31.75M18x1.5 | 14 37.2 25 93 | 246 (&) 1 211 o BSH MK . FESEINOAR X S 2 5/ EH67%.
20 20 (25|18 24.4 |46 | 77| 100 |40 |34 |30 |27.5|10 [34.93/M20x15 | 14 441 205 | 10.8 | 314 ;_il;g‘?iﬁﬁiggfiaz,f’;%@mo?ﬁﬁﬁ? AR
22 22 |28|20| 25.8|50 |84 | 109 |43|37 |32 |30 |12 |38.1 |M22x15 | 15 51.9 348 | 132 | 410 -

() BXEEM S I Ehttp://iwww2.asahiseiko.co.jp/im/usr/jb/jb_cat_p6.htm
Y

3 4



K T3 Fh A&
CAEERNFENTIAFE(JAIJB-PBREI) 10. ERIEETEE

LA WA T ANV A, D FEIE I B i w20 JA-JB- PBEL:-eeeeeereeeeneeee —15~+100C
6 A 24700 75 A B9 [R) AP Rg . — M fdt A I At FB-FDRY veeeevveeenneeeenenns —100~+250C
iR RS ISR B AR R R, RN R, MoK,
LA B AU A %5 % 7 T HERE TR 1. B
F12 T EIFEAKEARE as
BRTE B & B B
ElAEE e
P RIFHTE LS
2 41 R 11 A
3 21 B 2 B
5 11 B 1 A
10 2 B 4 x
20 4 x 2 X
30 2 X 1 x

8 ¥ Tk XEmtan

M 4 593-8324

BT HAKXKEMARHAXER6T 57081
B i 0081-72-272-6900

f£ E 0081-72-272-6903

HEFEM info@asahiseiko.co.jp

Bt http://www.asahiseiko.co.jp

2547

o BAER BUA #7& G FR /A 5] SHENYANG TOTAL BEARING CO. LTD.
Tel: 024 22945833 22923833 24853899 Fax: 024 88729249
Mobile: 13940483518 15640413155 (#41Z)

Web: https://www.rstbearing.com.cn

5000.TEN 2006.8



	H1
	1-2
	3-4
	H4



